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Jull marks for the questions.

Answer either in English or in Assamese.

1. Choose the correct option/Answer the
question of the following: 1x7=7

(@) ‘The sum of squares of deviations of
the value is least’ when deviations are

taken from

NGRS Roeme 3019 @oiwe e & e
oo @R =Rt A

(i) median
TG 2

Contd.



(ii) mode
IS 9l

(iiij mean
TR 2=

(iv) harmonic mean

WF AL A

(b) The data which have already been
collected by some one is called

) GREE ST AT I QAR SAPTRS

@A

(i) secondary
¢l

(i) primary
T

(iii) array
SIS

(iv) _quantitative

TiRE
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() When all the values in a series occur

the same number of times, then one
must not compute

AT @Bl (W AN @R[ T GF |

(STHRLE o9 (Ao W Sfer (R 2
() mean
My
(ii) median
MG
(iii) mode
IS
(iv) weighted mean
eife My

(d) In a frequency distribution, the last
cumulative frequency is 500, then Qj,
the third quartile must lie in

B! IFFRS Roreg T IR AL e
500 R, (SCTRE POI bpd Rl ot #7 =2

(i) 275t item
275 o%

(i) 375t jtem
375 o9

(iii) 150t jtem
150 ©%

(iv) 175t jtem
175 o3
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(e) If the price of a commodity remains at
Rs. 20 per Kg for the whole month,
then measure of dispersion will be

I B THI Wi 20 DI (STHL AT (T AUF
COERE PR =

(i) Rs. 20
(ii) Rs. 2
(iii) Re. O
(iv) Re. 1

x
(0 1fS.D. of xis 5, find the S.D. of g"‘l.

nﬁxawﬁws,mgnaw
oo Sfereat |

(g9 The firét three moments of a

distribution about the mean X are
0, 4 and 0. The distribution is

I @Bt 3% My AseF AW RGN g
0, 4 % 0 T, (STWZA IBAWI W

(i) symmetrical
af Sy
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(i) skewed to the left
AN ey

(iii) Normal
AN

(iv) skewed to the right
LIS SISy

2. Answer the following questions briefly :
2x4=8

(a) Define co-efficient of variation. Also
mention its importance.

R34 ety kel il | 209 SIRESTR
T

(b) Write down one merit and one demerit
of median. ’

NG Gbr @4 T G5 @IF B

(c) State the properties of correlation
coefficient.

TTHR BRI GOR ot

(d) Mention two properties of regression
co-efficient.

FANET @I 757 4f T = |
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3. Answer any three questions from the
following : 5x3=15

() Show that standard deviation is
independent of change of origin but not
of scale.

w6l (@ mifde Reem TEARTI 8o S
RS 7w, B8 (oo TR ARIEAT ¢7Te
TR

(b) Draw the ogives for the following
distribution showing the number of
marks of 59 students in a particular

subject : ,
50 T Ra2 b RER @RI TFERR W =R
(O SI I 8

Marks : 0-10 1020 20-30 30-40 40-50 50-60 60-70
)

No. of students : 4 8 11 15 12 6 3
(T =4

(c) Estimate f(5) from the following data
by appropriate method of interpolation :

AT ST ﬁan(S)QWWms
X : 4 6 8 10 12
flx) : 4 12 20 40 60
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(d) Show that correlation coefficient is
invariant of change of origin and scale.

ADTHT BOIRS TEARY AP 5o (I 89S
Se e ==31 |

(e) Given (@ =IR)

¥)

(ii)

(A)=90, (AB)=40, N=150 and
(B)=80. Prepare the 2x2 contigency
table. 3

2x2 IGrE Sifeid @id gFe |

When are two attributes said to
be positively and negativity
associated ? Also define complete
association and dissociation of two

attributes. 2
T o @A F@S DY e WIS
25 3 IR T 2 WO! @elR e D
% SPTp ke fam |
4. Answer any three questions from the
following : 10x3=30
(@) (i) Given below is the distribution of

120 candidates obtained marks X

in a certain examination (all marks

are given in the whole number)
3+4=7
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51 AP 120 TH A AR TIPTR

faat =tz 8
C.L ¢ 1020 20-30 3040 40-50 5060 60-70 70-80
(@ =)
No. of students : 30 20 15 25 10 15 5
(T =)

Calculate mean and standard deviation.
3+4=7

T S NS [Roerw [ 310

(i) Mention the requisites for an ideal
measure of central tendency. 3

N 2R TR TIYE ISRt
T =

(b) (i) In a partially destroyed laboratory,
record of an analysis of correlation
data, the following results are legible :

V(X)=9, regression equations are
8X-10Y +66=0, 4X-18Y =214
Find —

(1) the mean value of X and Y;

(2) correlation coefficient between
Xand Y;

(3) standard deviation of Y.
2+2+2=6
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SRR KT @A AR GO A=
SYZE AITRE [eeEd R @@
FEAITETTIE A 4961

V(X)=9, T AN !
8X-10Y +66=0, 4X-18Y =214.
ffdfa =1 —

i) X% YIAC AN ;

i) X P Y I DG QT ;

(i) Y I IS [Roem|

(i) Define multiple and partial
correlation with the help of an

example. 2+2=4
TR AT WS ST AT T
TCs wges! |
(c) (i) Given the values
(Fra SICIRT M)
x : 4 5 7 10 11 13

u, : 48 100 294 900 1210 2028

Construct the table of divided difference.
5

Reoiftre Twss i Siffl aee =11
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(i) If four equidistant values u_;, U,
u; and u, are given and a value of

u, is iqterpolated by Lagrange’s
formula, show that

nﬁwﬁsﬁmmﬂ u_;, ug, U A%
u, T A W u, I W TG
SO @ A9 TS =, (ST

el @
2 2
U, = Yuy + Xy +ﬂ%-—1)A2u_l + ﬂ%l)fuo
where (T9) x+y=1. S

(d) Derive the general quadrature formula
for equidistant ordinates. Hence derive
Simpson’s 3/8t rule. 6+4=10

AR (PIRITEHT A1 TE1SA % 279 #1_1
o= 3/8 @ Tfered

(e) (i) Evaluate (Sfersq)

e 1
[——5dx
o L+ x)

using Simpson’s 1/3rd rule. 5

forrionT 1/3 @ I7T IR
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(ii) Suppose the relationship between
X and Y is defined as

X 9k Y I HET oe© WAl &[0 IM
€«
Y=a+bx

estimate the unknown cénstant a
and b using method of least

square. | S
(O e o I @O a W% b I
W Tfeneat
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